TaYy—J SUMPORIESANNI OIS A

e — A EEAY 25T TR
b J{JMIRRES (EPD) RSB TRBXESH2-2-1
==l 243%m= . JR-AI-22121E httos//ecoleaf-labelip

E//0L—H—) 58—
Monochrome Compact Laser Printer with Wireless
& Ethernet and Duplex Printing
at your side
H L_L2379DW for North America

T5H—T %t KL%t / BROTHER INDUSTRIES, LTD.

HEH AT ERES JR-AI-22121E
JEAPCRES PA-590000-AI-04
Hm1aHh
PCR% ERA L DR [554hR)
BENSRELRE yN:s|S| 2022410819
m RRAF O RRSAA REESIBE  20224:9830H
BEAARIEE, £, Tl [ HES S, RE- UYL REEA T S AT LFREAT
HEDOBRN, FEMLE - 5w RAES IV-AI-22121E
AR : HL-L2379DW REEEEAR 2027498298
>4 (EPAR) PCRLE1—-DEHE
-EJ90 REE% 202264818
AAREE : 7.2kg. BF=A0 : 1.0kg TER B B2
-EDRIREE @ 34ppm (A4) (— WA A 2T F T S EHEE )
- B BN E ENRIHERE BEBIRFEE*
-BHR/EHRLAN NEMREEE AN 5
XAKMFIEKAEI T,
Muwabtsk ISO14025(C4E > FeAB ERUT — 4 DIRST UTARSE
I5H-TEMKAET [URE B SEELED OISR m 518D
TEL: 052-824-2511 (fAZ) FAX: 052-821-5177 *S 27 AR EBIH T BERNORIIDRA . S RF LRI

TEEE DRI H.

BiRES © JR-AI-22121E

https://www.brother.co.jp/



https://www.brother.co.jp/

IaJ-J

SATMIRITES
BIRES : JR-AI-22121E

(EPD)

SUMPORIESANINITOIS A
—MRAEEAD R T T IVIR =S HERE
FREBTRBXEZEH2-2-1
https://ecoleaf-label.jp

O34 TVA DIz EFHlFER

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 460 |kg-CO2eq
i dE e 0.30 | kg-SO2eq
BRHE 0.020 | kg-Sbeq 6
m DEM$EE " QEE " QA
ROEA-HEEE eORZE-UYAIL
PR B By &&t OFRMEERE| QXfE Qi |@mEm - wisE=E omm- UbroL
SURZB) IPCC 2013 GWP 100a | kg-CO,eq | 4.6E+02 || 6.2E+01 | 3.6E+00 | 4.8E+00 | 3.8E+02 | 1.5E+01
ERIEAL kg-SO.eq | 3.0E-01 || 4.8E-02 | 2.7E-04 | 7.4E-03 | 2.4E-01 | 6.6E-03
ERHE kg-Sbeq | 2.0E-02 | 5.8E-03 | 1.2E-05 | 2.0E-05 | 1.4E-02 | 3.4E-06
QTAITHAL DA N> BUSDIRE COMPIRUMNE (CRT DHERLE
IgH ::Mivi
IEBERIHEEIR 1.9E+01 kg EE 1.7E+00 kg
IEBERIBE T RILF— 1.6E+02 kg SuUS 4.2E-02 kg
BETEEER 4.7E+01 kg I mloYN 7.7E-02 kg
BETEETRILT— 1.6E+02 MJ ZOMERE 0.0E+00 kg
SRIKODEE 5.7E-01 m3 TSIAFvH 4.5E+00 kg
myN 1.8E-01 kg
HSX 3.3E-02 kg
T3 N 8.0E-01 kg
- EREERER 2.9E-01 kg
Z oAt 5.5E-01 kg




IaJ-J SUMPOEBIESAIITOIS A
—BHEEAY R T T TR RS

] z’(jgl RIRES (EPD) FREBTFABXEREE2-2-1
e— BiRES © JR-AI-22121EF https://ecoleaf-label.jo

OBEMRICET SEMNIFH

EREREORESZE (SFUA)
U s (EPAR) . BEEMAAAM : 5F. XS £172,80042, HIRIAIEZSZE (/(5F—>) :ISO/IEC 19798
ERIABMRERREECEER. BALLIRILF-RY—TOTS A : Ver.3.0. ABREILHAMEIF

©-1. € DMDRIEREEH

AREOETEE E FEBPGRD b —RUBGEHRERIE(LISO14001 FEEHRTIB(CTITHNTLE T,

QERUVEZRT—HDERS

IDEA v2.1.3 RUSUMPORIESANILTOJ S ASHREREA v1.10 ZEAUTZ.

®fF%

0 —FHEEDAEF. PCREKUERE - EEMREEZSRLTIIZE,
OLEER(CDWT(E. BE - SERRBICRESINIRMHZ/IZ UIBECUMRHSNEE A,
(Z885EURL : https://ecoleaf-label.jp/regulation/)
ZiES . JR-AI-22121E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

